34 Remote control Infrared remote control/152*38*16mm pc 1 N v
@& - [r— 33 Nut M4 pc 4 N N
32 Screw M4*10mm pc 2 N N
31 Screw ST3*6 pc 2 N v
30 Screw M4*6 pc 67 N J
29 Wiring cap CE2 pc 5 N N
28 Screw M4/copper pc 1 J v
27 Gasket @4/ground pc 1 N v
26 Gasket @4/ground pc 1 J J
25 Pressing plate SPCC/T=0.6 pc 2 N v
24 Lower mounting bracket SPCC/T=1.2 pc 1 N v
23 Bottom plate component SPCC/T=0.6 pc 1 v N
22 Control board 120V-240V/165*70mm pc 1 N v
21 Bottom grey light board holder  [SPCC/T=0.6 pc 1 N N
20 Speaker board 90.6*53mm pc 1 v v
19 Bottom grey light board 400*16mm pc 1 N N
18 Fire Light board 426*20mm pc 1 M v
17 PP board SPCC/T=1.6 pc 1 N v
16 Fire plate SPCC/T=0.6 pc 1 N J
15 NTC Bracket ABS/4g pc 1 N N
14 Right side plate SPCC/T=0.8 pc 1 J J
13 Synchronous motor 220V-240V/15-18r pc 1 N v
12 Synchronous motor bracket SPCC/T=0.8 pc 2 J J
11 Reflective stripe 535*@35mm pc 1 N v
10 Handle ABS/9g pc 1 J J
9 Digital display 65*42mm pc 1 v N
8 Display bracket SPCC/T=0.6 pc 1 N J
7 Middle plate SPCC/T=0.8 pc 1 N N
¢ #‘ 4 4 E’ " ? Heating element 220V-240V/2000W
: : : : : : : ; : 6 Fan heating component cross-flow fan 46300 with 85°manual pc 1 v N
thermostat
@ @@ @ @ @ @@@ 5 Control board 106.5*28.5mm pc 1 N N
4 Control Box ABS/14g pc 1 N v
Gmerit holdings Ltd 3 Control panel sticker PET=0.3 pc 1 N N
Design Zhao Qi DWG NO. HB20-22BE_A04 2 Back plate SPCC/T=0.6 pc 1 V v
Model NO. GMA2118 Description Wall-Mounted Electric Fireplace 1 Wall-mounting bracket SPCC/T=1.2 pc 1 M v
Checking Yanxiao Date December 15th,2022 Serials No. |Description Material/Specification Unit Qty 220V-240V/50Hz | 220V-240V/60Hz
Product Dimension 88.3%16.9*56cm
----------- it 220-240V~50Hz, 1680-2000W
Electronic thermostat
2 heat settings 1000W/2000W
Realistic 2D Flame Effect in amber color
With overheat safety protection
Technical function With weekly personalized program
With window detector function
With 12-hour timer
Flame brightness adjustable: 4 levels
With keyboard lock
With wood burning voice
48 Screw M4*20mm pc 2 N N
47 Ribbon 3*100mm pc 1 N v
46 Top plate SPCC/T=0.8 pc 1 N v
45 Air duct SPCC/T=0.6 pc 6 v N
44 Switch 16A/250VAC pc 1 J J
ol 1019 43 |Leftside plate SPCC/T=0.8 pc 1 J J
SN N 42 Power cord VDE HO5VV-F 3G 1.0?°mm 16A/250V pc 1 N N
@ @@ @ @ @ @@@ X wiring clip 6N-4 pc 1 v M
40 left and right layers for PP board [SPCC/T=0.6 pc 2 N v
39 PP board 568*330*1.6mm pc 1 v N
38 PP board upper layer SPCC/T=1.0 pc 1 N v
Gmerit holdings Ltd 37 Left bracket for glass SPCC/T=1.2 pc 1 N N
Design Zhao Qi DWG NO. HB20-22BE_A04 36 right bracket for glass SPCC/T=1.2 pc 1 v N
Model NO. GMA2118 Description Wall-Mounted Electric Fireplace 35 Tempered glass 880*560*5mm pc 1 v N
Checking Deng Jianping [Date December 15th,2022 Serials No. |Description Material/Specification Unit Qty 220V-240V/50Hz | 220V-240V/60Hz




